HIGHER SECONDARY EXAMINATION SAMPLE QUESTION FAPER
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#  There is:a cool-off time of [0 minuete: in addibon to the writing ttme of
1 hr.

& You are not allowed o write your answers or i discuss anvthing with
athers during the cool-off time

= Llse the eool-off time 1o get familiar with questions and to plan your
ANSWETS

s Read gquestions carefully before answering

&  When you select aq{:i:f.tinn. all the sub-questions must be answered
from the same guestion itself,

s Malayalam version of the questions 15 alsp provided
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1.  Answer any three gquestion from 1 - 5 Each carries [ score.,

(3x1=3)
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Choose the correct sty fement

Filiform apparatus plays an important role in guiding the pollentube in 1o

SVOErEids
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Intine is made of sporopollenin
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The stalk of the ovule is called hilum
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An orchid growing on a mango tree is an example for
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a) Parasitism

a ) rumormassed]

B} mutualism

b ) creganoadmoalm
¢) commensalism
C ) monoEEshm

d) predation

d) Eeta s deemt

Process of separation and purification of biosynthetic product from
bRoreRtiur 15 Called oovsnennrsrnssrernacsnrsnnnnnsnoness

STH IR DR SO T Mo STUGATR S TOR Rl S B n TTIRHEE R ol i i it )
o R0 tilaan o MakEyIn (ald TN, Ll i
Ecological pyramid is always upright in
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a) Pyvramid of Biomass 8} semualemiooa ool
b} Pyramid of Mumber b} moosuyaa oo
£} Pyramid of Energy ) Eenleme Tt

d)y None of the above d) soooied aomjog),



5. Principle of ELISA test I based of..cicns e innesses o
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Il Answer any 9 questions from 6 — 16. Each question carries 2 scores
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6. What are palindromic DNA sequence? Explain with an example

analimigrooaild DNA rmoflandod ~pomoad agyoms
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(2x0=18),

7. Name the three outer wall layers of anther? Mention the function of the

innermost laver.
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$. Explain two methods of direct gene transfer
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9. Complete the table given below
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Name of interaction ' Species A Species B
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1 Give any two uses of ramsgenic animals
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1 L. Mame two natural metheds 1o promote cross pollination in Aowering plants
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12, What does Bt in Bi cotton stand for? Also wale i1s advantags
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13, Differentinte between false fruit and parthenocarpic fruie?
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14. Comstruct g food chain uslng the given organisms. Also write down their trophic level

mopy aaasorikeiee et @lleeg puedlyl MRenanuniain oarlea] b
EONREES OS5Il Tk EQmoTE Tul R I ik

Ciovw, grivks, Tion
adm], afgl Milano

15, GPP - R = NP In thiz equation what does MPP, GPP, and R scand for

GPP - R =NPP som momiuods emienl NPP, GPP.and R a@ming aqmiflam
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Tih. Heow is ADA deficiency trested through gene therapy method
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IM.  Anwer any three questions from 17 — 20 each carry 3 scores (3x3=9)
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17, Fertilization in angiosperms is called doable fertilization, because here two male gametes
take part in fertilization
g esin lévgilan snftmmuceasmassrd Auinliol fandglPoREmat. &006ms
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a) What is the role of two male gamete in double fertilization.
1) @moflas ead oo Remna)as aRssmiT

b) Name these two processes
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18. A schematic representation of PCR s given below
afjfues aaas)mEiEleeymnal PR onf cosudallimiaoe,

Reglon 1 be amplified

oL Ol i,

a) Expand FCR
PCR s} cupiepy myedo agrym] ds

by Name the steps B and C
be  ngemepE)Es aab gy

¢} Which is the enzyme involved in this process and from which bacterium it is
isofated?
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19, Given below is a schematic representation which shows four factors that influence
the population density.
mmmuopEmee meouieileaymm mesl sussamag ropadoleaymm o Nmader a)ues
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Koriality \
1) Identify A aed B

A B ool ek me

2} Explain emigration and mortakity
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26. Explain the production of genetically engineered insulin
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